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jlk;u foKku
Chemistry

(313)

f'k{kd vafdr ewY;kadu&i=k

Tutor Marked Assignment

dqy vad % 20

Max.Marks: 20

fVIi.kh % (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA

Note : All questions are compulsory. The Marks allotted for each question are given

beside the questions.

(ii) mÙkj iqfLrdk ds izFke i`"B ij viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj fo"k; Li"V

'kCnksa eas fyf[k,A

Write your name, enrollment numbers, AI name and subject on the first page of the

answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) ,d rRo dk;Z dsafnzr ,dd lsy lajpuk lsy dksj 288 pm gSA rÙo dk ?kuRo 7.2 g cm–3 gSA rÙo

ds 208 xzke esa rRo ds fdrus ijek.kq gksaxs\ (ikB&6 ns[ksa)

An element occurs in the bcc structure with cell edge 288 pm. The density of the ele-

ment is 7.2 gm. How many atoms of the element does 208g of the element contain?

(See Lesson-6)

(b) fuEufyf[kr dks izFke vk;eu ,sFkSYih ds c<+rs gq, Øe esa O;ofLFkr djsaA B,C,N,O vius mÙkj dh

tk¡p djsaA

Arrange the following in order of increasing for ionisation enthalpy. Testify your

answer. B,C,N,O (See Lesson 3)

2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.
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(a) (i) Dyksjhu dh bySDVªkWu xzg.k ,aFksYih Ýyksjhu dh rqyuk esa vf/d ½.kkRed gksrh gS- D;ksa\

Chlorine has more negative electron gain enthalpy as compared to fluorine. Why?

(ii) ukbVªkstu ,d xSl gksrh gS ysfdu iQkLiQksjl Bksl] D;ksa\ (ikB&3 vkSj ikB&19 ns[ksa)

Nitrogen is a gas but phosphorous is solid Why? (See Lesson 3 and Lesson 19)

(b) D;k gksrk gS tc cksjsDl (Na
2 
B

4
O

7
.10H

2
O) dks lkanz H

2 
SO

4
 ls mipkfjr djrs gSa\

(ikB&19 ns[ksa)

What happens when Borax (Na
2
B

4
O

7
.10H

2
O) is treated with Conc. H

2
SO

4
 Give Chemi-

cal reaction. (See Lesson-19)

3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 40&60 'kCnksa esa nhft,A 2

Answer any one of the following questions in about 40-60 words.

(a) KC1O
3
 (iksVsf'k;e DyksjsV) ds fo;kstu esa MnO

2
 (eSaxuht MkbvkWDlkbM) dk D;k dke gS\

jklk;fud vfHkfØ;k nhft;sA (ikB&19 ns[ksa)

What is role of MnO
2
 (Maganese dioxide) in the decomposition of KC1O

3
(Potassium

chlorate)? (See Lesson 19)

(b) D;k gksrk gS tc veksfu;k (NH
3
) dh vfHkfØ;k vR;kf/d Dyksjhu (Cl

2
) ls djkrs gSa\ jklk;fud

lehdj.k nsaA (ikB 8 ns[ksa)

What happen when NH
3
 is reacted with excess of Cl

2
. Give Chemical equation.

(See Lesson 8)

4- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.

(a) fuEufyf[kr vfHkfØ;kvksa ds fy, izfr eksy eqDr ÅtkZ ifjorZu dks ifjdfyr dhft,A

Calculate the free energy change per mole for the following reactions.

(i) CaCO
3
(s) + CaO(s) + CO

2
(g) 298K ij

∆H = 117.9 kJ,  ∆S = 160.4JK–1

(ii) 2 NO
2
(g) + N

2
O

4
(g), 298K ij

∆H = –57.2 KJ, ∆S = –175.6JK–1 (ikB&10 ns[ksa)
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(b) fuEufyf[kr dh O;k[;k dhft;sA

Explain the following.

(i) ;fn vip;u rki ij /krq nzo voLFkk esa curk gS rks /krq dk vip;u vklkuh ls gks tkrk
gSA

The reduction of a metal is easier if the metal is formed in liquid state at the

temperature of reduction.

(ii) >kx Iyou fof/ esa phM+ ds rsy dk mi;ksx gksrk gSA

Pine oil is used in froth flotation process.

(iii) fdl /krq ds fu"d"kZ.k ds fy, lk;ukbM izØe dk iz;ksx gksrk gS\

For the extraction of which metal cyanide process is used?

(iv) vfrfØ;k'khy /krqvksa ds fu"d"kZ.k ds fy, fdl fof/ dk mi;ksx fd;k tkrk gS\

Which method is used for the extraction of highly reactive metals?

(See Lesson-16)

5. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj yxHkx 100&150 'kCnksa esa nhft,A 4

Answer any one of the following questions in about 100 to 150 words.

(a) izksVhu dks ifjHkkf"kr dhft;sA izR;sd dk ,d mnkgj.k nhft,A (ikB&29 ns[ksa)

Define Protein, Give one example of each. (See Lesson-29)

(i) fu;ked izksVhu

Regulatory Protein

(ii) lajpukRed izksVhu

Structural Protein

(iii) vfHkxeu izksVhu

Transport Protein

(iv) izfrj{kk izksVhu

Defence Protein

(b) (i) D;k iQhukWy izfrjks/h gS ;k jksxk.kquk'kd\ O;k[;k dhft,A

Is phenol is antiseptic or disinfectant? Explain

(ii) fuEufyf[kr ds mi;ksx esa lko/kuh nhft;sµ

Give caution of usage of the following.

(i) tehZlkbM

Germicide
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(ii) izfrvEy

Antacid

(iii) Tojuk'kh

Antipyretic

(iv) VSªaDohykbtj vkSj (b) fgiuksfVDl ;k fuanzkdkjh (ikB&30 ns[ksa)

Tranquilizers and hypnoties (See Lesson-30)

6- uhps nh xbZ ifj;kstukvksa esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6

Prepare any one project out of the given below:

(a) fo|kfFkZ;ksa ds nks lewg cukb,A ,d fo|kfFkZ;ksa ds ,d lewg dk lEcU/ xkao ds jgus okys gSa rFkk

nwljs lewg ds fo|kFkhZ 'kgj ds jgus okysA i;kZoj.kh; leL;kvksa ij nksuksa lewg ppkZ djds

fuEufyf[kr ds mRrj nsaA (ikB&32 ns[ksa)

Make the two groups of students. One group belong to village students and other group

belongs to urban city. Discuss environmental problem and answer the following?

(See Lesson-32)

(i) ok;q xq.koRrk lwpdkad D;k gksrk gS\

What is AQI (Air Quality Index)?

(ii) ok;q xq.koRrk lwpdkad esa o`f¼ ds fy, D;k mRrjnk;h gS\

Which is more responsible for increase in AQI?

(iii) xkao dh ok;q xq.koRrk 'kgj dh ok;q xq.koRrk lwpdkad dh rqyuk esa vPNk gksrk gS] D;ksa\

Why air quality is better in village as comparel to urban area?

(iv) ;fn ok;q eaMy esa CO (dkcZu eksuks vkWDlkbM) dh ek=kk vf/d gks rks mldk ok;qeaMy ij

D;k izHkko gksrk gS\

What is the effects on the atmosphere if excess CO is present in atmosphere?

(v) xzhu gkml izHkko ds fy, dkSu lh xSl mRrjnk;h gksrh gS\

Which gas is responsible for green house effect?

(vi) vEyh; o"kkZ ds fy, dkSu lh xSlsa mRrjnk;h gksrh gSa\

Which gases are responsible for acid rain?

(b) fo|kfFkZ;ksa ds nks lewg cukb, rFkk mUgsa foVkfeuksa dh deh ds dkj.k gksus okyh chekfj;ksa ds ckjs

esa ppkZ djus nsa vkSj fuEufyf[kr ds mRrj nhft;sµ (ikB&29 ns[ksa)
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Make two groups of students and allow them to discuss the diseases caused due to

deficiency of the various Vitamins. Answer the following. (See Lesson-29)

(i) gkeksZu vkSj foVkfeu esa D;k varj gksrk gS\

What is difference between hormone and Vitamins

(ii) ty foys; foVkfeu dk ,d mnkgj.k nhft,A

Give one example of water soluble Vitamin.

(iii) olk foys; foVkfeu dk ,d mnkgj.k nhft,A

Give one example of Fat soluble Vitamin.

(iv) foVkfeu C dh deh ds dkj.k gksus okyh chekjh dk uke fyf[k,A

Name the disease caused due to deficiency of Vitamin C.

(v) foVkfeu A dh deh ds dkj.k gksus okyh chekjh dk uke fyf[k,A

Name the disease caused due to deficiency of Vitamin A.

(vi) foVkfeu B
6
 dh deh ds dkj.k gksus okyh chekjh dk uke fyf[k,A

Name the disease caused due to deficiency of Vitamin B
6


